10
20
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200
210
220
230
240
250
260
1000
1010

PE = PEEK( 175 ) + PEEK( 176 ) * 256
SD% = 1186

SD = 24576
IC% = 33

IC = PE - IC%
MM% = 93

MM = IC - MM%
SX = MM - SD%
S% = SX

D% = SD

N% = SD%

CALL MM, S%, D%, N3
ss = ""

H% = 64

CALL SD, S$, H%
POKE - 16304, O
POKE - 16302, O
POKE - 16299, O
POKE - 16297, O
I =0

GOTO 200

CALL SsD, Ss$, , Lg%, W%, C%, I%
RETURN

PRINT

HOME

POKE - 16303, O
POKE - 16300, O

PRINT
END
FOR I = 32 TO 127
C% =0
We =12 +2 % (I - (INT( I/ 8 ) * 8)
L$ = INT( I / 8 )
S$ = CHRS$( I )
GOSUB 100
NEXT
CALL IC, A%
GOTO 150

)






